



St. Louis County, Minnesota

Date of Report: 9/20/2025 6:37:28 PM

General Details												
Parcel ID:	280-0014-00110											
	Legal Description Details											
Plat Name:	CANOSIA											
Section	Township	Range	Lot	Block								
22	51	15	-	-								
Description:	S1/2 OF NE1/4											
	Ta	axpayer Details										
Taxpayer Name	J & D ENTERPRISES INC											
and Address:	5197 LAVAQUE RD											
	DULUTH MN 55803											

Owner Details

Owner Name CICH DALE W ETUX

#### Payable 2025 Tax Summary

2025 - Net Tax \$16,090.00 2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$16,090.00

Current Tax Due (as of 9/19/2025)												
Due May 15		Due October 1	5	Total Due								
2025 - 1st Half Tax	\$8,045.00	2025 - 2nd Half Tax	\$8,045.00	2025 - 1st Half Tax Due	\$8,929.95							
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$8,045.00							
2025 - 1st Half Penalty	\$884.95	2025 - 2nd Half Penalty	\$0.00	Delinquent Tax								
2025 - 1st Half Due	\$8,929.95	2025 - 2nd Half Due	\$8,045.00	2025 - Total Due	\$16,974.95							

#### **Parcel Details**

Property Address: 5197 LAVAQUE RD, DULUTH MN

School District: 700
Tax Increment District: Property/Homesteader: -

	Assessment Details (2025 Payable 2026)											
Class Code (Legend)	The state of the s											
205	0 - Non Homestead	\$56,000	\$446,800	\$502,800	\$0	\$0	-					
233	0 - Non Homestead	\$61,900	\$357,500	\$419,400	\$0	\$0	-					
111	0 - Non Homestead	\$61,100	\$0	\$61,100	\$0	\$0	-					
205	0 - Non Homestead	\$8,000	\$113,500	\$121,500	\$0	\$0	-					
	Total:	\$187,000	\$917,800	\$1,104,800	\$0	\$0	16053					





St. Louis County, Minnesota

Date of Report: 9/20/2025 6:37:28 PM

**Land Details** 

Deeded Acres: 80.00 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00

_ot Depth:	0.00					
The dimensions shown are n	ot guaranteed to be s	urvey quality. A	Additional lot	information can be	e found at	
https://apps.stlouiscountymn	.gov/webPlatsIframe/f				ions, please email PropertyTa	x@stlouiscountymn.gov.
		Improven	nent 1 De	tails (MAIN RE	:S)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
HOUSE	1976	1,64	40	1,970	GD Quality / 1476 Ft <sup>2</sup>	1S+ - 1+ STORY
Segment	Story	Width	Length	Area	Foundation	on
BAS	0	16	20	320	WALKOUT BAS	SEMENT
BAS	1.2	30	44	1,320	BASEMEN	NT
DK	0	0	0	839	POST ON GR	OUND
Bath Count	Bedroom Co	unt	Room C	ount	Fireplace Count	HVAC
2.75 BATHS	3 BEDROOM	MS	-		2	CENTRAL, FUEL OIL
		Improver	ment 2 De	tails (14X20 S	T)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
STORAGE BUILDING	1976	28	0	280	-	-
Segment	Story	Width	Length	Area	Foundation	on
BAS	1	14	20	280	POST ON GR	OUND
		Improve	ment 3 De	etails (MAIN De	G)	
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
GARAGE	1989	1,34	44	1,344	-	DETACHED
Segment	Story	Width	Length	Area	Foundation	on
BAS	1	28	48	1,344	FLOATING S	SLAB
		Improvem	ent 4 Deta	ails (2STORY	SE)	
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
HOUSE	1960	63	4	1,234	ECO Quality / 475 Ft <sup>2</sup>	SE - SPLT ENTRY
Segment	Story	Width	Length	Area	Foundation	on
BAS	1	2	8	16	CANTILEV	'ER
BAS	1	3	6	18	BASEMEN	NT
BAS	2	24	25	600	BASEMEN	NT
CW	0	4	8	32	POST ON GR	OUND
CW	0	8	8	64	FOUNDATI	ION
CW DK	0	8 0	8 0	64 200	FOUNDATI POST ON GR	

1.0 BATH

CENTRAL, ELECTRIC

0





St. Louis County, Minnesota

Date of Report: 9/20/2025 6:37:28 PM

		-		etails (SE DG	i)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
GARAGE	1990	90	0	900	-	DETACHED		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	1	30	30	900	FLOATING	SLAB		
LT	0	12	28	336	POST ON GI	ROUND		
Improvement 6 Details (STORAGE)								
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	1990	96	3	96	-	- -		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	1	8	12	96	FLOATING	SLAB		
		Impro	voment 7	Dotoile (Htil)				
I	Vara Badd	-		Details (Util)	December Finish	044-0-4-0 0		
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
UTILITY	2006	4,56		4,560	· · · · · · · · · · · · · · · · · · ·	LT - LT UTILITY		
Segment	Story	Width	J		Foundat			
BAS	0	76	60	4,560	FLOATING	SLAB		
		Impro	vement 8	Details (Util)				
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
UTILITY	2006	7,17	72	7,172	-	EQP - LT EQUIP		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	0	10	14	140	FLOATING	SLAB		
BAS	0	17	80	1,360	FLOATING	SLAB		
BAS	0	26	52	1,352	FLOATING	SLAB		
BAS	0	40	108	4,320	FLOATING	SLAB		
		Improven	nent 9 Det	ails (TRAILEF	RS)	,		
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
MULTIPLE STOREAGE BUILDINGS	0	30		30	-	-		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	0	0	0	30	FOUNDA <sup>-</sup>	ΓΙΟΝ		
		Improv	ement 10	Details (SGL)				
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
MANUFACTURED HOME	1993	84		840	-	SGL - SGL WIDE		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	1	14	60	840	POST ON GI	ROUND		
Bath Count	Bedroom Cou	ınt	Room C	ount	Fireplace Count	HVAC		
2.0 BATHS	2 BEDROOM	S	-		-	CENTRAL, PROPANE		
		mproveme	ent 11 Deta	ails (DB WD C	)FFI)			
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
MANUFACTURED 2000 1,344 1,344						<b>,</b>		
MANUFACTURED HOME	2000	1,34	44	1,344	-	-		
	2000 Story	1,3 <sup>2</sup> 	Length	Area	Foundat	ion		





St. Louis County, Minnesota

Date of Report: 9/20/2025 6:37:28 PM

Bath Count	Bedroom Count		Room C	Count	Fireplace Count	HVAC
	Imp	rovement	t 12 Deta	ils (COM GAR	AGE)	,
Improvement Type	Year Built			Gross Area Ft <sup>2</sup>	•	Style Code & Des
GARAGE	0	320		320	<u>-</u>	DETACHED
Segment	Story	Width		Area	Foundati	
BAS			20		FLOATING S	
				ils (COM GAR		
Improvement Type	Year Built			Gross Area Ft <sup>2</sup>		Style Code & Des
GARAGE	0	384		384	-	DETACHED
Segment	Story			Area	Foundati	
BAS				384	FLOATING S	
				ails (SPLIT EN		
Improvement Type	Year Built	-		Gross Area Ft <sup>2</sup>		Style Code & Des
HOUSE	0	1,19		1,194	U Quality / 0 Ft <sup>2</sup>	•
Segment	Story	Width			Foundati	
BAS	1	9	10	90	BASEME	NT
BAS	1	46	24	1,104	BASEME	
DK	0	18		324	POST ON GR	
Bath Count	Bedroom Count					HVAC
-			-		-	,
	lmn	rovement	t 15 Deta	ils (SMALLHO	OUSE)	
Improvement Type	Year Built			Gross Area Ft <sup>2</sup>	•	Style Code & Des
HOUSE	0	720		720	-	BNG - BUNGALOV
Segment	Story	Width	Length	Area	Foundati	on
BAS		24			-	
Bath Count	Bedroom Count				Fireplace Count	HVAC
-	-		-		-	,
	Imp	rovement	16 Deta	ils (SMGRYHC	OUSE)	
Improvement Type	Year Built	Main Floo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
HOUSE	0	612		612	-	BNG - BUNGALOV
Segment	Story	Width	Length	Area	Foundati	on
BAS	1	18	34	612	-	
Bath Count	Bedroom Count		Room C	Count	Fireplace Count	HVAC
-	-		-		-	,
	In	nproveme	nt 17 De	tails (JUNKY I	MH)	
Improvement Type	Year Built	Main Floo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Des
MANUFACTURED HOME	1980	840		840	-	-
Segment	Story	Width	Length	Area	Foundati	on
BAS	0	14	60	840	POST ON GR	
Bath Count	Bedroom Count	[	Room C		Fireplace Count	HVAC
-	-		-		-	,
	lm	provemen	t 18 Deta	ails (FLATTOP	PB)	
Improvement Type	Year Built	Main Floo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
UTILITY	0	2,200	0	2,200		LT - LT UTILITY





St. Louis County, Minnesota

Date of Report: 9/20/2025 6:37:28 PM

Segment	Story	Width	Length	Area	Foundation				
BAS	1	44	50	2,200	FLOATING	SLAB			
Improvement 19 Details									
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish Style Code & De				
UTILITY	1980	3,08	30	3,080	- LT - LT UTII				
Segment	Story	Width	Length	Area	Foundation				
BAS	1	44	70	3,080	FLOATING SLAB				

	Improvement 20 Details (AT STREET)											
-	mprovement Type	Year Built	Main Floor Ft <sup>2</sup>		Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.					
MANUFACTURED HOME		1985	1,21	16	1,216	-	SGL - SGL WIDE					
	Segment	Story	Width	Length	Area	Found	lation					
	BAS	0	16 76		1,216	POST ON	GROUND					
Bath Count		Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC					
	2.0 BATHS	-		-		-	CENTRAL, PROPANE					

#### Sales Reported to the St. Louis County Auditor

No Sales information reported.

		As	ssessment Histo	ry			
Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
	205	\$55,400	\$433,700	\$489,100	\$0	\$0	-
	233	\$61,100	\$346,700	\$407,800	\$0	\$0	-
2024 Payable 2025	111	\$60,400	\$0	\$60,400	\$0	\$0	-
2024 Fayable 2025	205	\$8,000	\$110,000	\$118,000	\$0	\$0	-
	Total	\$184,900	\$890,400	\$1,075,300	\$0	\$0	15,599.00
	205	\$50,800	\$438,300	\$489,100	\$0	\$0	-
2023 Payable 2024	233	\$55,200	\$330,500	\$385,700	\$0	\$0	-
	111	\$54,500	\$0	\$54,500	\$0	\$0	-
,	205	\$8,000	\$110,000	\$118,000	\$0	\$0	-
	Total	\$168,500	\$878,800	\$1,047,300	\$0	\$0	15,098.00
	205	\$48,400	\$397,400	\$445,800	\$0	\$0	-
	233	\$52,000	\$299,500	\$351,500	\$0	\$0	-
2024 Payable 2025  2023 Payable 2024  2022 Payable 2023  2021 Payable 2022	111	\$51,400	\$0	\$51,400	\$0	\$0	-
,	205	\$8,000	\$99,800	\$107,800	\$0	\$0	-
	Total	\$159,800	\$796,700	\$956,500	\$0	\$0	13,715.00
	204	\$34,800	\$267,600	\$302,400	\$0	\$0	-
	233	\$42,000	\$338,300	\$380,300	\$0	\$0	-
2021 Payable 2022	111	\$85,400	\$0	\$85,400	\$0	\$0	-
,	207	\$8,000	\$137,200	\$145,200	\$0	\$0	-
	Total	\$170,200	\$743,100	\$913,300	\$0	\$0	12,549.00





St. Louis County, Minnesota

Date of Report: 9/20/2025 6:37:28 PM

Tax Detail History											
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV					
2024	\$15,824.00	\$0.00	\$15,824.00	\$168,500	\$878,800	\$1,047,300					
2023	\$15,548.00	\$0.00	\$15,548.00	\$159,800	\$796,700	\$956,500					
2022	\$16,457.00	\$25.00	\$16,482.00	\$170,200	\$743,100	\$913,300					

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.